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QUESTION 1

You want to allow all hosts on interface ge-0/0/0.0 to be able to ping the device\\'s ge- 0/0/0.0 IP address. Where do you
configure this functionality? 

A. [edit interfaces] 

B. [edit security zones] 

C. [edit system services] 

D. [edit security interfaces] 

Correct Answer: B 

 

QUESTION 2

Which statement is true about source NAT? 

A. Source NAT works only with source pools. 

B. Destination NAT is required to translate the reply traffic. 

C. Source NAT does not require a security policy to function. 

D. The egress interface IP address can be used for source NAT. 

Correct Answer: D 

 

QUESTION 3

You have configured your chassis cluster to include redundancy group 1. Node 0 is configured to be the primary node
for this redundancy group. You need to verify that the redundancy group failover is successful. 

Which command do you use to manually test the failover? 

A. request chassis cluster manual failover group 1 node 1 

B. request cluster failover redundancy-group 1 node 1 

C. request chassis cluster manual failover redundancy-group 1 node 1 

D. request chassis cluster failover redundancy-group 1 node 1 

Correct Answer: D 

 

QUESTION 4

Which two statements are correct about security policy schedulers on an SRX Series device? (Choose two.) 
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A. A scheduler can be applied in multiple policies. 

B. You can only apply one scheduler per device. 

C. You can only apply one scheduler per policy. 

D. A scheduler can only be applied to a single policy. 

Correct Answer: AC 

 

QUESTION 5

Which two statements are true about pool-based source NAT? (Choose two.) 

A. PAT is not supported. 

B. PAT is enabled by default. 

C. It supports the address-persistent configuration option. 

D. It supports the junos-global configuration option. 

Correct Answer: BC 
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